22+0—-7 Hh—A 2Z2hA—7 ANVIT75— / RiTHRA

%R (842 mm)  Dimensions (mm) AR (#fiz mm)  Dimensions (mm)

g SARRE
}fi\wu : - %ﬁﬁﬂ |
2l F= e || oyt

2Z2hA—Yh—AT Y (2-STROKE ENGINES FOR CAR MODEL)

=T

m f Items A B © D E F G J S
0.S. SPEED T1204 31.4 11 50.0 39 185 23.5 26 29.5 68.05 UNF1/4-28
0.S. SPEED R2104 37 21 64.5 45 15.6 28 31.6 29.5 75.6 UNF1/4-28
0.S. SPEED R21 SHIMO EDITION 2 37 21 64.5 45 15.6 28 31.6 29.5 75.6 UNF1/4-28
0.S. SPEED R21GT 37 21 64.5 45 15.6 28 31.6 29.5 86.5 UNF1/4-28
0.S. SPEED B2103 Type S 37 21 65.5 45 15.7 28 31.6 29.5 68.1 UNF1/4-28
0.S. SPEED B2103 Type R 37 21 65.5 45 15.7 28 31.6 29.5 81.2 UNF1/4-28
0.S. SPEED B21 Adam Drake Edition2 37 21 64.5 45 15.6 28 31.6 29.5 81.5 UNF1/4-28
0.S. SPEED B21 Ronda Drake Edition 37 21 64.5 45 15.6 28 31.6 29.5 81.5 UNF1/4-28
MAX-12TG Ver.lV 314 11 50.0 39 13.5 23.5 25.4 29.5 73.3 UNF1/4-28
MAX-R21 37 21 64.5 45 15.6 28 31.6 29.5 75.6 UNF1/4-28
MAX-21XR-B Ver.lll 37 21 64.5 45 15.6 28.5 31.6 29.5 86.6 UNF1/4-28
MAX-21XZ-B Ver.ll 37 21 64.5 45 15.6 28.5 31.6 29.5 86.5 UNF1/4-28

2ARA—=9AYIF9—BAIT>Y Y (2-STROKE ENGINES FOR HELICOPTER MODEL)

LE Items A B © D E F G H J S
MAX-32SX-H RING 38 15 75 45 76 58 30.3 45.5 60.6 UNF1/4-28
MAX-37SZ-H RING 38 15 75 45 76.5 58 30.6 455 61 UNF1/4-28
MAX-50SX-H RING Hyper 44 175 85.8 52 925 61 36 52.3 74 UNF1/4-28
MAX-55HZ Hyper 44 17.5 76.6 52 90.9 51.6 36 42.85 72.6 UNF1/4-28
MAX-55HZ-R 44 175 76.6 52 90.9 51.6 36 42.85 72.6 UNF1/4-28
MAX-105HZ 52 25 85.5 61 100.7 55.4 43 42.9 79.2 UNF5/16-24
MAX-105HZ-R 52 25 85.5 61 100.7 554 43 429 79.2 UNF5/16-24

2AMA—IRITHAIT>Y> (2-STROKE ENGINES FOR FIXED-WING AIRCRAFT)

® & ltems A B S D E F G H J S
MAX-1T1AX 314 11.0 58.5 39 60.4 40.9 24.2 354 48.4 M5
MAX-11CZ-A 314 11.0 58.5 40 60.4 40.9 24.7 354 48.1 M5
MAX-15LA 33 14.4 63.7 40 61 39.5 24.8 30.8 48.5 M5
MAX-15LA-S 33 14.4 63.7 40 61 39.5 24.8 30.8 48.5 M5
MAX-25LAIl 36 14 66.6 44 745 46.5 29 39 60 UNF1/4-28
MAX-25FXII 38 15 75.6 46 75.5 53 30 45.5 60 UNF1/4-28
MAX-35AX 38 15 755 45 774 53 30.6 455 61.5 UNF1/4-28
MAX-46AXII 44 175 84.5 51 85.1 60.4 35 52 67.4 UNF1/4-28
MAX-55AX 44 175 85.3 51 90.5 60.4 36 52 72 UNF1/4-28
MAX-65AX 52 25 93.3 60 99.5 66.6 40 54.1 78.5 UNF5/16-24
MAX-75AX 52 25 94.5 61 1034 66.6 42.6 54.1 81.4 UNF5/16-24
MAX-95AX RING 52 25 94.5 61 1034 66.6 42.6 54.1 81.3 UNF5/16-24
MAX-120AX RING 58 25 100.2 67 109.1 70 46.5 575 85.5 UNF5/16-24

4Z2h0O—7 RITHR
&R (842 mm)  Dimensions (mm)
F
jB ﬂ B |
S -
GAD E

Ty :

AZMA—IRITHAITYY Y (4-STROKE ENGINES FOR FIXED-WING AIRCRAFT)

m A Items A B © D E F G H J S
FSa-56ll 44 175 102.3 51 101.7 59 34 493 84 UNF1/4-28
FS-62V 44 17.5 102.8 51 105.1 60 34.1 51.3 87.5 UNF1/4-28
FSa-72I 45 20 103.6 54 108 59.5 36 49.5 90 UNF1/4-28
FS-95V 52 25 115.7 61 119 66.5 42.6 54 97.5 UNF5/16-24
FS-120Slil 58 25 134.5 67 139.5 77 47 64.5 116 UNF5/16-24
FSa-155-P 58 25 127.6 67 138.6 77 47 64.5 114 UNF5/16-24

41



IV AX&TER
ZRE & R—MNBIYVIVTER

4AZhO—IRITHA 2REIT>Y Y (4-STROKE MULTI-CYLINDER ENGINES)

m & Items A B C D E & G H J S
FT-160 (Gemini-160) 68 56.5 285 196 120 50.5 63.5 54 M5
FF-320 (Pegasus) 68 56.5 2815 196 181.5 1125 125.5 76 62 UNF1/4-28
FR7-420 (Sirius7) 122 — 230 158.5 UNF1/4-28

HER (842 mm)
Dimensions (mm)

FT-160

~HER (847 mm)
Dimensions (mm)

FF-320

\

IS

WIA

‘ &
UT j\f @@

—m ai
()
&/
m
—o—-0

o
uj
3

UI
i

SHER (842 mm)
Dimensions (mm)

FR7-420

SHER (842 mm)
Dimensions (mm)

MAX-21XM Ver.I

46

87
@,

46
(5]
~
(2]

25

219

46

H

\]
7@; I

48.5 149.5

183

GF2')—X~FiEE

HER (842 mm)
Dimensions (mm)

GF30ll

SHER (842 mm)
Dimensions (mm)

105~119
145.9
| ¢ P\l a
~ o © A
©
o ~| N
4952 =
UNF 5/16-24 o)) fpsls
@ 0
« I~ ®
- N
~
UNF 5/16-24 = 0
® & ® ®
T
I il
f 41 | 35 | 35
jﬁ 1185 70
40 765 694 837
145.9

42



543 _25
<HER (#f2 mm) o SHER (842 mm)
. . [&3l10 | . .
Dimensions (mm) ;g%\ Dimensions (mm) g
GGT15 I S GT60
[ o
o i T ™|
| o)
Qf
b= 43 39
1033 105.4
2 N
\
!
Y d N 5
o = 2
© 1)
UNF5/16-24 d @ S 3
] <
—— S = E
35.8 66.8 | 39.4 36 916
38.8 127.6
142
SHER (842 mm) 2l f—s SHER (842 mm)
Dimensions (mm) 30°(es feg Dimensions (mm)
o
GT15 & E GT120T
= 3
=N
ol ; T .
o
82
39, 43
103.3 105.4 ﬁ
o 8. | B
© (=]
UNF5/16-24 e i
0
Q
1358 668 [394]
142
~FHER (842 mm)
T"_-if _(%11 ) Dimensions (mm)
Dimensions (mm) GT15HZI
GT22
58.6
29.2 294

E ~H
J
o 2-M4
35
< 5/16-24 UNF-2A @
& 9 UNF5/16-24
it ) 4
1 = il 'S
&
yal 68.5 40
795 o ig.z 508 32
134.3
&R (842 mm) SHER (842 mm) 12515
Dimensions (mm) Dimensions (mm) 4-R2.1(@4.2)

GT33

51.2

62.3

156.1

o
323 1337
< 2-M5
39 |
24
3 i 5/16-24 UNF-2A
all ~|
| N o
T N N
o &
| o)
37.7 [34.0] 84.5 |404 | 4057/} 851 35
196.6 407] 407

GT15HZ

61

57

UNF5/16-24

2
21 _21
0|
g
L
o )
hilpn
N i
| 304 59.8 32
38.8
1306

43




TORSF—9R/BEY LYY —

g & FORTHAZ vaLoy— | B o
MAX-11AX TL—21> : 8x4 FL—F—ZK—Y : Txd. 7x5 871A 385
MAX-11CZ-A TL—0A> : 8x4 hL—F—ZK— : Tx4. 7x5 871 37.0
MAX-15LA TL—5A> : 8xd RL—F—-ZK—Y : 7x5-6. 8x4-5 871 37.0
MAX-15LA-S TL—21> : 8xd ATV ZK— : 8x4-6 871 37.0
MAX-25LAll TL—5+4> :9x5 hL—F—-ZK—Y : 9x5-6 E-2030 62.0
MAX-25FXII Z—Y- 25> : 9x5-6. 9.5x5. 10x5 892 62.0
MAX-35AX ZR—Y : 10x6-7. 11x6. 12x6 E-3080 83.0
MAX-46AXII ZR—: 10.5x6. 11x6-8. 12x6-7 E-3071 108.0
MAX-55AX ZR— : 12x7-8. 13x6-7 E-3071 108.0
MAX-65AX ZIR—Y © 12x6. 13x6-7. 14x6 E-4010A 156
MAX-75AX ZR— : 13x8-10. 14x6-8 E-4040 178.0
MAX-95AX RING ZR— : 14x8. 15x6-8. 16x6-8 E-4040 1780
MAX-120AX RING ZR—Y : 15x10-12. 16x8-10 E-5020 176.0

AZNO—IRITHATIVY Y

B % FORSHAZ saLoy— | B
FSa-56ll ZR—- 25Tk : 12x6-8. 13x6 Z7—JL : 12x6-8. 13x6-7 F-4040 420
FS-62V ZIR—Y-ZFUN : 12x6-T. 13x6-7 R —IL : 14x6 F-4050 440
FSa-72ll ZIR—Y-ZFT 2T —)b : 12x7-8. 13x6-8. 14x6-7 F-5030 54.0
FS-95V ZR—Y-ZF VI : 13x7-9. 14x6-8 A7 —)L : 15x6-8 F-5050 58.0
FS-120slI ZR—-ZF >k : 13x11-13. 14x10-11 27 —JL : 15x8. 16x6-8. 18x5-6 F-5020 922
FSa-155-P ZR—-ZF Tk 16x8-12. 17x8-12 F-6020 95.0

AZNO—IRATHA TNFIIVI—TO Iy

B % FORSHAZ
FT-160 (Gemini-160) ZR—- 27 —)l : 16x8. 18x6-8. 20x6
FF-320 (Pegasus) ZR—Y -2 =)L : 18x10-12, 20x8-10, 22x8
FR7-420 (Sirius7) ZR—Y - 27—l : 22x10-12. 23x8-12. 24x8-12. 26x8

22 FO—RITHA Y O0—HYUY TV Y'Y GGTYY—X

R & TORTHAZX yaLv— | e e
GGT10 ZR—Y- 770 R —)L : 12x7-9. 13x6-8 E-3071 108.0
GGT15 ZR—- 75027 —)L : 13x8-11. 14x8-10. 15x8 E-4040 | 1780

22 NO—IRATIHE HYUY IV Y'Y GTYU—X

B % FORSHAZ vaLoy— | B
GT15 ZR—y- 770 A7 —)L : 13x8-11. 14x8-10. 15x8 E-4040 | 1780
GT22 TL—5A> 1510 RR—Y-ZHk : 16x8. 16x10. 17x6. 17x8 E-5040 | 1326
GT33 TL—+> : 18x8 ZK—V-ZF>k : 18x10. 18x12. 19x10. 20x8. 20x10 E-5030 | 1875
GT60 TL—+> : 22x8 ZK—Y-ZFk : 22x10. 23x8. 23x10. 24x8. 24x10 E-6020 | 1780
GT120T TL—21> : 26x12.27x10 ZR—Y-ZF2k : 26x11-13. 27x9-12. 28x8-10

AZNO—RATIE HYUYIYYY GFYU—Z

B % FORSHAZ yaLvy— | ZOT
GF30Il TL—2+1> : 17x8 ZK—Y-FH0-Z7—Jb : 16x10-12. 17x8-10. 18x6W-8 F-6040 | 1130
GF40 TL—21> : 18x8 AR—Y-FH0- A7 —)L : 18x8-12. 19x8-10. 20x8-10 F-6040 | 1130

44



E—4%—41X% Dimensions Chart |

”/ 1’3 D AB ~HEB (842 mm) Dimensions (mm)
as.fﬂ'-t u. ‘ : :
e

High Performance Brushless Molors |
N i
ow > (
o= S I
RITEAT—5— HF G| HR
#iE Model A B C D E F| G|HF| HR| I J K L M N P Q R S

OMA-2810-1250 | 37.5|29.5(228.0|17.5|@816.0|2.0| 20| 7.0 | 70 | 23 | 885 |M5x0.8| 19.0 | 16.0 |240.0{@33.0| @3.1 [M3x0.5| ——
OMA-2815-1100 | 425|345 |2280|17.5|216.0| 20| 20| 70 | 70 | 83 | 885 |M5x0.8| 19.0 | 16.0 |@40.0/233.0| 3.1 |M3x0.5| ——
OMA-2820-950 465 | 385 |8280| 175 |916.0[ 20 | 20| 70 | 70 | @3 | 885 |[M5x0.8| 19.0| 16.0 |840.0{@33.0| 3.1 |[M3x0.5| ——
OMA-3805-1200 455 | 30.5 |@37.0| 25.0 |220.0( 3.0 | 1.0 | 11.7 | 11.7 | 94 | 9.5 [M6x0.75| 25.0 | 25.0 |©50.0{@43.0| ©3.1 |M3x0.5|M3x0.5
OMA-3810-1050 50.5 | 35.5 |@37.0| 25.0 |@20.0| 3.0 | 1.0 | 11.7 | ——| 24 | 8.5 [M6x0.75| 25.0 | 25.0 |@50.0|243.0| ©3.1 [M3x0.5|M3x0.5
OMA-3815-1000-W| 55.5 | 40.5 [237.0| 25.0 |220.0| 3.0 | 1.0 [ 11.7 | 11.7 | 5 | 29.5 |M6x0.75| 25.0 | 25.0 |950.0|243.0| 3.1 [M3x0.5|M3x0.5
OMA-3820-1200-W| 61.0 | 46.5 |@37.5| 25.0 [@22.0| 3.0 | 1.0 | 115 | 11.5 | @5 | 9.5 |[M6x0.75| 25.0 | 25.0 |@50.0{@43.0| @3.1 |M3x0.5|M3x0.5

* ¥ ¥ ¥ ¥

*

OMA-3820-960 61.0| 46.5|2375| 25.0 (9220| 3.0 | 1.0 | 11.5 | ——| @5 | 9.5 |M6x0.75| 25.0 | 25.0 |850.0|@243.0| 3.1 |[M3x0.5|M3x0.5
OMA-3825-750-W | 65.5 | 51.0 (837.5| 25.0 (¢22.0| 3.0 [ 1.0 [ 11.5 | 11.5 | @5 | 89.5 |M6x0.75| 25.0 | 25.0 [250.0|243.0| 3.1 |M3x0.5|M3x0.5
OMA-5010-810 63.0 | 46.5 |©50.0| 34.0 [227.0| 40 | 1.0 | 11.7 | —— | @6 | 9.0 |M8x1.0 | 30.0 | 30.0 |268.0|258.0| 24.1 |M4x0.7|M3x0.5
OMA-5015-650 68.0 | 51.5 [850.0| 34.0 |@27.0| 40 | 1.0 | 11.5 | — | 86 | 9.0 |M8x1.0| 30.0 | 30.0 |#68.0{258.0| @4.1 |M4x0.7|M3x0.5
OMA-5020-490 72.5| 56.0 |©50.0| 34.0 |27.0| 40 | 1.0 | 1156 | ——| @6 | 29.0 |M8x1.0 | 30.0 | 30.0 |868.0|@258.0| @4.1 |M4x0.7|M3x0.5
OMA-5025-375 78.0 | 61.5|250.0| 34.0 (@27.0| 40 | 1.0 | 11.5 | —— | 26 | 29.0 |[M8x1.0| 30.0 | 30.0 |268.0{258.0| 24.1 |M4x0.7|M3x0.5

REERFRTUX L, FEERDDIRFEICEDET,
| E—9—2RvI%&

® B 1 OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA-
2810-1250|2815-1100| 2820-950 (3805-1200(3810-1050|3815-1000-W|3820-1200-W| 3820-960 |3825-750-W| 5010-810| 5015-650| 5020-490( 5025-375
B 14 14 14 14 14 14 14 14 14 14 14 14 14
E B e} 51 66 80 76 102 134 160 160 195 234 295 350 405
Y—R#E RS | mm 40 40 40 50 50 50 90 90 90 110 110 110 125
U—Rig X 17AWG 17AWG 17AWG 17AWG 17AWG 17AWG | 17AWG 17AWG | 15AWG | @0.38x16 | @0.38x20 | 30.38x20 | 30.38x20
dxI50 mm 35 35 35 35 35 35 35 35 35 4.0 4.0 4.0 4.0
EREBE \Y 11.1 11.1 11.1 11.1 11.1 11.1 11.1 11.1 14.8 14.8 14.8 222 259
ERERBD) | A 14 18 22 20 30 35 40 40 40 45 50 50 50
BAERGY) | A 20 25 30 30 50 60 75 70 75 80 85 90 920
EBEEER A 0.6/10v | 0.7/10v | 09/10v | 1.1/10V | 1.1/10V | 1.1/10V | 1.9/10V | 1.7/10V | 1.5/10V | 1.8/10V | 15/10V | 1.5/10V | 2.0/10V
TERHER mQ 94.0 69.0 72.0 65.1 51.3 36.5 21.4 26.7 31.0 245 20.0 23.0 275
1099902 uH 30.0 23.0 24.0 52.7 31.6 23.8 11.5 15.3 21.0 27.4 25.0 33.0 430
BAME % 755k 80LL E 80LL 805k 8551k 855k 8551k 805k 855k 858k 855+ 855k 8551k
KViE rpm/V| 1250 1100 950 1200 1050 1000 1200 960 750 810 650 490 375
HBEK T 22 16 14 34 22 16 10 12 12 20 16 16 16

@ EB(OxV/5&U—RR)

700-8007 A EENYITY—5H 3D/F3CHILT Y LRAE—F—

&R (£ mm) Dimensions (mm) | F—I—HARAR/ARYIE= |
OMH-5825-520 = B H B | #{& | *OMH-5825-520 | *OMH-5830-490
o 2lg S % = mm 258 258
@ KERS mm 54 62
B % 10 10
Y ITNER mm 26 26
JrIhEE mm 40 30
E = g 525 600
Y—Rig RS mm 110 100
U—Rig A& 20.38x14 20.38x14
aARI TN mm tERL FERZL
TREE v 44.4 44.4
TRER 34) | A 100 100
BAER 58)| A 150 150
WEEER A 2/10V 3.1/10V
faRiER mQ 15 14
(99952 | uH 26 25
BAME % 85L + 0Bl F
KViE rpm/V 520 490
BEY T 12 12

REERFBTUE U, EERDDIRFEICEDEY,




F3ABRBRAE—Y—99>a>/91LIME—5—

[ OMR-4043-165 | F 3 A

BRUSHLESS MOTOR FOR F3A COMPETITION

~13%EB (842 mm) Dimensions (mm) PRIV My
Rear Mounting Plate Set

ST o=,
D Silicon Tube

3.1
(©39.5)
961.5

Mounting holes
dividing a circle into 8 Mounting holes
Mounting holes SR dividing a circle into 4
dividing a circle into 8  8%4)-M3x0.5 RSN
AR P.C.D. 70 4%43-M3x0.5
8%4-M3x0.5 TR Mounting holes G50
P.C.D. 62 4%4)-M3x0.5 dividing a circle into 4

8.5

-
== ==
vEs
%

(Y, i (I
60

VRPN Mounting holes
8% 43 -M4x0.7 dividing a circle into 8 L

C.D. 32 L
M8x1.25 — | I
D | iE §
M4 v A I ©
M Tep LEQU—j Ji @ E—5—EUiR
]/\7 - Motor mounting holes
e =]
u o
3

EESEMIN Yozl PIEMIS VNNl ’%5 44
with the Front Mounting Plate-B with the Front Mounting Plate-A 28.9 16.1 56 81
45 137
[OMA-4043-1160 | | E=9—-U50vav E—F—YAXR/ANYIE |
E B Hfii | OMR-4043-165 |OMA-4043-1160
&Rl (842 mm) Dimensions (mm) N & o W6E0xH89 %1 2395
FHRS mm 137 %2 81.0
B ¥ 4 4
Iy 7hNER mm 28 25
y7hRE mm 45 %3 21
@ g E B g 630 390
o © U—RiR R mm 110 110
a 1S U—Rig k& 20.38x15 20.38x15
E b qARIFN mm NERL EEL
T o EREBE \Y 37 37
ERER A 80 80
BXER 5¥)| A 125 125
2 102 2l \EWER A 19 19
1ERHET mQ 13.2 13.2
BEAY979Y2 | uH 18.9 18.9
RAME % —_— 92k
KVIE rpm/V 165 1160
HBEH T 3 3

X1 7OV OVRERS X2 YUVNE~E—Y—&IE X3 YUV ME~2 T Nl

| OMA-6030-220
E—HF—ARYIE
FiER (842 mm) Dimensions (mm) B B £
i # 28
I 5 B 9 675
H U—RiR R& mm 110
m ® P.C.D. 4-M3-70 U—Rig K& 20.38x9
_ P.C.D. 4-M3-62 JRI50 mm EEL
8 El @ }HED #[Eﬁ POD- a4 TREE v 37
® ERER (35) A 70
tj RAER (58) A 90
J_ - EEHER A | 1.1/10v
-2 0 e | a0 TR mo 28
5 W55V | uH 27
BRARME % 855k
KV{& rom/V 220
BEH T 4

048 *xEE2(U—RiA)

46



	41
	42
	43
	44
	45
	46

